50m3 x 20WH{&

F30E AL FRERR—YHERFIERE

EIE%:EIZEJ?.ZQEWJEHQEI(7|<)~10J5122EI(E|)
iﬁﬁﬁ ;LHTIEH$ EIL.\ 7I-:> \Jt/g_
I1‘E BARZEESADILGEER
50mTAM7IIEF=LB60RGFE ARIELF

< HEAXE > 1 i
SiEE | SHEE K& K1 K2 P1 P2 Si S2 B | XOH =118
12 | KA £ 91 94 95 99 94 91 564 16
22 EINES 95 93 97 100 93 92 570 18 1696
12 | AE K 95 96 96 97 89 89 562 14
Elf&‘ij(ﬁ'ﬂ > 2 51
S EE K1 K2 P1 P2 S1 S2 848 | xo% &5
14 B‘Inrs 7!5 i 95 93 97 97 90 93 565 16
24 X 2 94 92 98 96 94 94 568 17 1688
14 fefn BE 94 93 95 91 90 92 555 15
BAKE > 3 i

5t B K4 K1 K2 P1 P2 S1 S2 /R XD 55

10 96 87 98 97 95 92 565 16

20 94 93 94 96 86 86 549 13 1663

87 89 94 95 92 92 549 14

E_EEUHL > 4 fu

Amm%/\—lmmg/\ﬁmm%/\qmm%/\qmm

S EE K1 K2 P1 P2 Si S2 B | XO% &t
13 96 93 98 97 89 91 564 20
23 93 84 88 95 91 85 536 10 1660
13 95 95 94 94 91 91 560 16

RRXE > 5 b

S EE K4 K1 K2 P1 P2 S1 S2 Ba | X% &8
11 90 91 98 99 91 91 560 15
21 79 87 92 94 88 76 516 5 1630
11 90 95 93 96 91 89 554 10

K";‘:‘B'Am.%#“ﬁ ’]\** K%Bﬁnhg*uﬁ iE“l HE?&



50m3 x 20WH{&

< 6 02

S K2 P1 P2 Si S2 Ba | X% =11
S 94 94 98 79 80 532 10
S 90 97 95 77 89 534 11 1614
T 96 92 90 85 91 548 10
< 7 12

5HEf K2 P1 P2 St S2 BR[| XOH St
S 94 93 96 78 87 541 8
S 93 96 95 79 80 534 13 1607
T 95 91 96 82 81 532 12
< 8 iv2

B R K2 P1 P2 S1 S2 8/R XD &&t
S 88 93 99 68 84 519 12
S 86 91 94 81 80 515 7 1566
T 91 95 95 79 83 532 13
< 9 L

e K2 P1 P2 Si S2 ol XD ¥ =X1
S DNS
S 79 90 83 87 88 517 4 1065
T 88 93 95 91 92 548 12
<

B E¥ K2 P1 P2 Si S2 /R XD &5t
S 93 95 95 93 93 560 15
S 89 94 91 93 86 549 8 DSQ
T DSQ

AREAZREHE I EAN ARERER

REHE 1B REX



